OSKRG Research/Restoration Bulletin #8

K/Sportsters 52-75 Brake Light Switches .
This research and restoration bulletin was created with input and assistance from
members of the OSKRG. The report consolidates the best available information at the
time of creation and may be updated or revised at a future date. If errors are identified,
or there is additional information on the subject of this report that has not been

included, please post comments, corrections or additions to http://harleykmodel.com in
the “Forum” or email them to me at graino@comcast.net .



http://harleykmodel.com/
mailto:graino@comcast.net

57PB | 72004-52 $ 275 Stoplightswitch ........... ... ... . ... ..., o B ot iE 55 B 52 to 56—All K Models, 57 Sportster
3959 10 Stoplight switch: bolt (16 Cranketse) « . vv vviw s sy o v s 52 to 56—All K Models, 57 Sportster
6179 .05 Stoplight switch contact plate washer ......................... 52 to 56—All K Models, 57 Sportster
Notes Believe the
switches went from
parkerized to cad
around 59 or 60.
Believe the brown
faced switches were @ [0}
original equipment 2959 79004-52
only. Believe the white-
faced switches were
OEM replacements that
were made in the 70s?
Aftermarket white
faced production dates
unknown.
59PB | 72004-52 BEOPHRRE MW  cciinm ivaisiinmmisisiommmavis Rt se st s 52 to 56— All K Models,
57 to 59— All Sportsters except 58—~ C & CH
6179 Stoplight switch contact plate washer .........ccccecverniansierinrnicnsanns 52 to 56— All K Models,
57 to 59— All Sportsters except 58—-C & CH
3959 Stoplight switch bolt (to crankcase) ........cccocuecricnciicrcnsinccniannns 52 to 56— All K Models,
57 to 59— All Sportsters except 58 -C & CH
7748 Stoplight Switch BOIt AL . cvsiciinmimisiumniimimiisniommisioiims 59— Sportster CH
71098-38 Stoplight switch insulator bushing..........ccccoimvreerinnssirsesrssnsnsasaane 52 to 56— All K Models,
57 to 59— All Sportsters except 58— C & CH
72011-59 SEOpLIEHE SWIEH BEBEIEE iciirimummnniveninnssssinnmosasoii sy isiunimisss 59— Sportster CH
5902 Stoplight switch bracket Spacer (2) ........cccovruemririrersisessssassesareesaes 59— Sportster CH
Notes: 58 C & CH had 2902
no lights. 6
71098-38 ‘ @
/ 7748
B 0 @/
3959 @@Q 4
3959 72004-52 6179 . 0’4 : TR




63PB | 3 2629 SCREW. No. &-52:% 5716 1d, M. {2). wononmsmnvnnmeniassmeainne i a 53 to * — K, KH, XL, XLH,
5 2791w SCREW. 120 18 . M. . coaivnnimumi e canesivumies en eos e 59 to * — XL.CH
6 3840 BOLT, 1/428 x1-1/4hex. hd. ... .ot iiiiinnnaanns 63 — XLCH
7 3959 BOLT, 5/15-18 29716 . M. : ciansnanassi i s idsss s sanasi 53 to * — K, KH, XL, XLH
8 5902 SPACER. stoplight awitch bracket (2) oo v suinas vs vesaeas savwawans 59 to * — XLCH
9 6179 FIBRE WASHER, No. 10% 18/32 % 1/32.s i cunen vonmmmsnmammnwmmen « 53 to * — K, KH, XL, XLH;
59 to * — XLCH
11 7040 LOCKWASHER:: ST1B . iu vivansicvnssims o vesmim s e o tn e arms s 53 to * — K, KH, XL, XLH;
13 7748 NUT.. 571818 17/68 X LJ2 MBR. v anininionis sonwivisassion iaemnmsnion s 59 to * — XLCH
15 71098-38 BUSHING. stoplight SWIICH. ... « s o suvammmes wrsmansns snensnm o exwa 53 to * — K, KH, XL, XLH;
33 7200452 EPOTLIEIET SWETOIL. COMDUBEE, & 5.x =0 biniimen: e sbimmn s sl o oo wnie 53 to 58 — K, KH, XL, XLH;
59 to * — XLH, XLCH
34 72011-59 BRACEET, Stonlight Sl . ooias o sbuaimisi sonssassamehaees oo 59 to * — XLCH
35 72015-39 INSULATOR. ‘SIoBIEhE BWIEN ;s oo vvinanscoinuee coemsesnd o 5eve e 53 to 58 — K, KH, XL, XLH;
59 to * — XLH, XLCH

Notes: Bolts 6 appears

to bein error? 7 is the 33 35

3959 bolt used from

52 on to connect the -

switch to the @ GI:Q>3

crankcase? 6 is a %-28 0/ @

shown starting in 63, ’ ?

what is it connecting?

The 59PB shows the ] 5 9

3959 bolt only used.




65PB

3 2629

S 2791W
6 3959

7 5902

8 6179

10 7040

11 7138

12 - 7748

14 71098-38

32 7200452

33 72011-59
34 72015-39

SCREW. No. 832 ¥ 5/16 1. bt 2):vuns sumnwenawis wssawive s vs 54 to * — KH, XL, XLH, XLCH
SCREW. 1/8:-20 x 1s1/ i pd, M. onnvomessassansrbinsnensoisssinsssin 59 to * — XLCH
BOLT: 5/16-1B % /18 hex. Bl: civsnvvesmunvms amivaaanis e arneess 54 to ¥ — KH, XL, XLH;
59 to * — XLCH
SPACER, stoplight switch bracket (2) «.vovvveeviennennenrnsonnannns 59 to ¥ — XLCH
FIBRE WASHER, No. 10 x 13732 x 1/32 «ccvacniisamipivismssoweius 54 to * — KH, XL, XLH;
59 to * — XLCH
LOCKWASHER, 5/16...... R R R R SR R E R RS 54 to * — KH, XL, XLH;
59 to * — XLCH
LOCKWASHER, 7716 Ink. 00 icisceisisunsssandsanensn dovsmiven 63 to * — XLCH
HUT. 5/16-18 % 17/64 K A2 K. 5 cravvommnanissmaseonanae asgaesis . 59to* — XLCH
BUSHING, Stoplight SWIEH cxcoveunnva o crnnasenswmmeanmns ene oo 54 to ¥ — KH, XL, XLH;
SPOTLIGHT SWITCH. cOlpIelE . oiioiinvivivvnvivinwosvsvveninsves 54 to 58 — KH, XL, XLH;
59 to * — XLH, XLCH
BRAGKET,. stoplight switchic. cuississnssnisnssisivinsissisniniads . 59 to* — XLCH
INSULATOR, Stoplight sWIEEH «: v v svuass spsmviiis sssmesveres 54 to 58 — KH, XL, XLH;

59 to * — XLH, XLCH

Notes: The 65PB
shows all bolts being
used as the 3959
variety like the 59PB.
What’s with the 63PB?

6 10

g
&
> ®—12




67PB

Earlier.

11 2791W SCREW, 1/8:20% 12174 1d, Wiy «os consnanvonnens snmomue SR 59 to 66 — XLCH

13 3959 BOLT, 5/16-18'X 9716 heX. M. «vvvivummsnmmmrunaise sasavs samaes 54 to 66 — KH, XL, XLH;
59 to 66 — XLCH

14 5902 SPACER, stoplight switch Dracket (2) ...cisicisusssvinnsvanawnansii 59 to 66 — XLCH

15 6179 FIBRE WASHER, No. 10X 13/32 % 1/32 isvswsvevwnin vvwwpvnwe snsvs 54 to 66 — KH, XL, XLH;
59 to 66 — XLCH

20 7040 LOCKWASHER, 5/16 «.vuvvunernnennnnnnss ettt eeeeineeeeaaaaaas 54 to 66 — KH, XL, XLH;
59 to 66 — XLCH

25 7677 LOCK NUT, 1/2520 .uvnevnnsve vusmummnmasmsss ononmviesnns vensnoes OF =Rl ALCH

26 7748 NUT, 5/16-18 X 17/64 X 1/2 heX. v evverrrvrereroeronseoconnnnsnss .. 59to66 — XLCH

56  72004—52  STOPLIGHT SWITCH, COMPIETE. .« rvrrrrrreerreerenessesnassnnanes 54 to 58 — KH, XL, XLH;
59 to 66 — XLH, XLCH

57 7200567 STOPLIGHT SWITCH, WIth W88 .uicssicasansnmssnisssnessssonnnid 67 — XLH, XLCH

58 72011-59 BRACKET, stoplight SWitlh. .. cociain snsanmais cvin svnsswean s oo 59 to 66 — XLCH

59 72015-39 INSULATOR, stoplight SWItCh <. .ccvevenisnusunvosssois sesssssssss 0810 58 — KH, XL, XLH;
59 to 66 — XLH, XLCH

Notes: Used 66 and ]3 20 6/]4.

@6

Notes: 72005-67 used
in 67 only. Unclear if it
was a running change
in late 67 or early 68
to the 72005-67A
switch.

(

o —

(@

) @—26




68PB

~ 3 ® 3 0O~V UYUCwWw

72005-67A

Notes: 72005-67A first
appears in the 68 PB
Supplement. List it for
only 68 at this point.

STOPLIGHT SWITCH,

—

ith wires

N7

68 XLCH

69PB

~ 3 ® 3 O~V UYUCWw

72005—-67A

STOPLIGHT SWITCH, wi

Notes: 72005-67A
appears again in the
69PB Supplement but
this time lists it for 67
to present. Shows as a
replacement for the
72005-67 used in 67.

68 — XLH, XLCH

67 to * — XLH, XLCH




6 2629

i SCREW, No. 8-32x5/16rd. hd. (2)...........ccvveenrnnannnnnnn. 54 to 66 — KH, XL, XLH, XLCH
70PB | 11 3738 BOLT 1/4-20 x 5/8 . B SRR O et R W 70 to * - XLH, XLCH
19 7036 BN, DI s rvivnn e mnn s sl R 0 e sy o b iwiis 67 to* — XLH
22 7115 LOCKWASHER, relay terminals, No. 8 int. tooth (3) ................ 67 & Early 68 — XLH
29 1677 R I T e I o s s et s s e AR v A R R 67 to * — XLH, XLCH
34 9931 TERMINAL, stoplight switch., ., . ............. SR LE A 70 to * — XLH, XLCH
42 40503—63 SPRING, stoplight switch .. ........covverieeeenee stmn il o o0 0l “Late 69 - XLH, XLCH
60 7190070 STOPLIGHT SWITCH, with terminal (front brake).................... Late 69 to * — XLH, XLCH
63 72004—67 STOPLIGHT SWITCH KIT, withwires . ..........cc0.. s somassossve  GEI® - XLH XLCH
64 72010-39 MOUNTING BRACKET, stoplight switch . . ........ccviinnnnnseens LLate 69 — XLH, XLCH

Notes: Things get busy in the
70PB. 72004-67 first appears and
is shown for 67 to present as a
Stoplight Switch Kit. It also
appears for use on Sportsters in
the 71PB. It is not only a
replacement for the 72005-67
used in 67 but also for the 72005-
67A used in 68 & 69. The 78PB
shows it used as a kit through 72
and just the switch, not as a kit
used through 74. Where things get
confusing is there appears to be a
late 69 replacement for the 72005-
67A switch that then was replaced
in 70 by the 72004-67 Switch Kit.
The 70PB shows the switch but
only lists PNs for the switch
bracket and spring. | can’t find any
PNs for the switch in any of the
Sportster PBs. The 72010-39
Switch Mounting Bracket does
appear in the 41-54 Big Twin PB
along with Brake Light Switch
72004-39 for Big Twins 39-54. This
late 69 brake light switch for the
Sportster appears to be this Big
Twin switch.

Mystery late 69 Stoplight
Switch. No PN found. The #42
spring 40503-63PN & the
bracket #64, PN 72010-39,
shows late 69 XLH & XLCH.




344 10007
63 7200467
Notes: The 71PB shows 2
cable straps added, #34A
PN 10007, to secure the
front stoplight switch.

CABLE STRAP, switch cable to handlebar (white) (2)
STOPLIGHT SWITCRH XIT, with wires

Late 69 1o * — XLH, XLCH
67 to * ~— XLH, XLCH




Other Brake Light Switches

78PB

31 7200467
7200470
32 72004-75

Notes: 72004-70

67 to 72 — XLH, XLCH
73 & 74 — XLH, XLCH
7510 * — XLH, XLCH

Notes: 72004-75

ﬁ};ﬁey_oavidson ¢
Genvine Parts & Accessories

Notes: 72013-73
Non-Sportster, 73-
76FX Model.




General Comments:

e There seem to be some color changes between the early AMF parts and later ones. For example, look at the two
pictures of the 71900-70 front brake switch. The early looks grayish and the later black. Likewise the 72004-67 Brake
Light Switch Kit appears to have the brown faced switch initially and later changes to the white face.



